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NRR [Noise Reduction Rating] *ANSI S3.19

SNR [Single Number Rating] *ISO 4869

SLCS80 [Sound Level Conversion]| *AS/NZS 1270
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NRR Noise Reduction Rating United States

S\R Single Number Rating European Union

SL.Cxs Sound Level Conversion Australia/New Zealand

What is NRR?
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CALCULATE

OSHA A Lprot=L-(NRR-7)/2
C Lprot=L-NRR/2

NIOSH A Lprot=L-(NRR-7)

C Foam Earplugs:Lprot=L - (NRR * 0.5)
Other Earplugs:Lprot=L - (NRR * 0.3)
Earmufts:Lprot =L - (NRR * 0.75)
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Dual Protection

OSHA

{\
+ 00 = Noise Reduction Rating of 34

NRR 29 NRR 27

Occupational Noise Calculators
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Protector - NRR |
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Hearing Protection Calculator - NRR Method

These calculators estimate the sound level at the ear when wearing hearing protection. The noise must be measured using a

suitable sound level meter and the details of the heanng protectors in questions must be available too. There are three methods
available

NRR Method The NRR (Noise Reduction Rating) method is usually the least accurate but easiest way to assess a hearing
protector's performance. You need an "A” or "C" weighted sound level meter and the protector's NRR figure

HML Method The H-M-L method is usually the second most accurate method. You need a sound level meter that
measures the "A” weighted and the "C" weighted Sound Level. You also need the protector's HML values

Octave Band This is the most accurate way to calculate the level at the ear. Use this if you have a sound level meter with
Octave Band Filters. You also need the hearing protector's APV values

Protector NRR

o dB(A)
dB(C)

Sound Level or TWA

Method © QOSHA

Calculated Level dB
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Noise at Work Calculator

Protector - SNR

Hearing Protection Calculator - SNR Method

hese calculators estimate the sound level at the ear when wearing hearing protection. The noise must be measured using a

suitable sound level meter and the details of the hearing protectors in questions must be available too. There are three methods
available

Octave Band This is the most accurate way to calculate the level at the ear. Use this if you have a sound level meter with
Octave Band Filters. You also need the hearing protector's APV values

HML Method The H-M-L method is usually the second most accurate method. You need a sound level meter that
measures the "A” weighted and the "C" weighted Leq. You also need the protector's HML values

SNR Method The SNR method is usually the least accurate but easiest way to assess a hearing protector’'s performance
You need a "C” weighted sound level meter and the protector's SNR figure

Protector SNR
C Weighted Sound

Level d8(C)
Calculated Level dB Level at the ear to ISO 4869-2:1995
Real World +4dB dB Allowing for real-world factors
Summary

SNR

Wearer’s estimated exposure (dBA’) =
workplace noise level (ABA) — SNR

Wearer’s estimated exposure (ABA’) =
workplace noise level (ABC) — SNR
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Simplified guidance on selection
of hearing protection

A-weighted noise Select a protector
level (dB) with an SNR of ...
85-90 20 or less

90-95 20-30

95-100 25-35

100-105 30 or more

TABLE Il - Determination of the ASINZS Class and specification of allowable noise levels*

SLC8o

SLCq Class May be used up to this noise level (dBA)
10t0 13 1 90
1410 17 2 95
181021 3 100
21025 4 105
26 or greater 5 110
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The End

Thank you for your
attention
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